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Time Allotted: 2 Hours 30 Minutes Full Marks: 80

The questions are of equal value.
The figures in the margin indicate full marks.

[ Instruction ]

The candidate should indicate the correct Roll Number, Registration Nosg«Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet us1ng black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: Correct Method: O @ O O Wrong Method: B G ® @

Answer all the questions / FIF(5 2T TG B8 / T UHEwHDT IR e 1x80 = 80
Choose the correct option/ %33 Teafs 53 34 / W& Ridey BT

1. The group of organisms which conyert light into food are called
(A) Autotrophs (B) Heterotrophs (C) Decomposers (D) Omnivores
P G W SIS A0 TSRS 0 ©Ieaa e
(A) SICHIEEH (B) BT (C) “Io et (D) Hge
TBTETCATS ETErT GROTG 37+ S0l T8%en! THEATS b WD ?
(A) TS (B) TRHH (C) JUECHED (D) St
2. Gases responsible for acid rain are emitted by—
(A) Industries and factories (B) Auto vehicles
(C) Paddy fields (D) Both ‘A’ and ‘B’
W11 B & W e N 2 el @ 2
(A) B aR FeeREEl (B) TRETaRRA  (C) GTwe (D) ‘A’ @ ‘B’ Tewg
SFFCTaS RIS RIS St ST TE5 2
(A) I 31N HREFTES (B) QIR AreAEw
(C) g=aRY (D) ‘A’T‘B’gd
3. Largest dam in India is —
(A) Hirakud (B) Tehri (C) Sardar Sarovar (D) Bhakra-Nangal
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ST 28N Y T
(A) F=Ew (B) (o= (C) 7= A (D) SRF- e
TROYep! FITaT Soil 918 T 81 2
(A) ferrpe (B) &t (C) URER TR (D) HTeH_T AT
4, The uses of CFC are —
(A) Insulators (B) Aerosol propellants
(C) Refrigerants (D) All of these
CFC-93 QA
(A) TETH (B) SHICARTE (B0 (C) @SS (D) 7o
CFC &I YT %8| 581 §78 ?
(A) Insulators (B) Aerosol propellants
(C) Refrigerants (D) Reiem a&
5. Which is the most common gas released from the landfills?
(A) Carbon monoxide (B) Methane (C) Hydrogen Sulphide (D) Carbon dioxide
TSI (AT TR (FIe 5717 fofe =31 9
(A) I TS (B) few (C) YW ARTFIRE (D) FIEA-TiR-SFTT
IR GG AR Feeh=] =T T 812
(A) Carbon monoxide (B) Methane (C)yHydrogen Sulphide (D) Carbon dioxide
6. The Wildlife Protection Act was passed in'=—
(A) 1952 (B) 1955 (C) 1972 (D) 1982
IR 7 NS oA 2
(A) 1952 (B) 1955 (C) 1972 (D) 1982
TSI ERETUT SRR o7 HIITRA TIREY ?
(A) 1952 (B) 1955 (C) 1972 (D) 1982
7. Typhoid, Cholera and Dysentery are diseases that are spread by —
(A) Air pollution (B) Water pollution
(C) Land /Soil pollution (D) The use of pesticides
BIRTCE, ST, ST @3 @i 2 site e ail
(A) SR (B) SreTRel (C) Ff&igze (D) FHAXIF A
CIEAIES, &1 3T+ THTY T B thiefe 2 \
(A) TR T (B) T T
(C) HeTUyT (D) HISIAHES DI TN
8. The ecological pyramid that is always upright —
(A) Pyramid of energy (B) Pyramid of Biomass
(C) Pyramid of number (D) None of these
IEOCE (A PPRIfIe St ey &

(A) *fez Praiffe (B) Givetmm Prifite (€) e Praifie (D) 02 7
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8BTS R TIRReR R g 2
(A) ST fURTfrs (B) IR fORTfrS
(C) weme! favifire (D) Rfess g1 afy Sige
9. Development but not at the cost of environment is called
(A) Sustainable development (B) Unsustainable development
(C) Unstable development (D) None of these

‘sifaraes i 9 TR Sre-93 WA
(A) RSN Smaw (B) oM ew (€)= S (D) =2 T

g eRUTe &R fiemTerers Yivrs —
(A) G foraprer (B) 3R feraprer
(C) 312 faeprer (D) Rie o ufr erga
10. Which of the following is a biodiversity hotspot in India?
(A) Western Ghat (B) Nandadevi (C) Eastern Ghat (D) Sunderban
e @inb e SRR 2571 9
(A) *fR5=iG (B) =it (C) »aie (D) 7=
TABTEEHT P TTTe HRTTSHT ST ALY BRI &Y ?
(A) TR TR e (B) F=redt (C)ERragstae (D) gre<a
11. The main component of ‘Biogas’ is .
(A) Nitrogen (B) Oxygen (C) Methane (D) Carbon dioxide
& ST T Solwis 2a
(A) TELBITE (B) S3wes (C) fRew (D) FEF-Ti2-w311ZT
ST (Biogas)-ﬂﬁ‘i?vrw ar—
(A) TTSEIoH (B) Sfeiom (©) e (D) BT SFINTATES
12. Which of the followingis responsible for desertification?
(A) Deforestation (B) Mining (C) Overgrazing (D) All of these
o 1T STeates ey Wl 9
(A) SRe R (B) ¥+ (C) “rebizel (D) 7=
TOYAHRU] IRV TADTTER T & 2
(A) g-fa=Ter (B) G (C) arferamor (D) Rrfiew 9
113}, ‘Agenda-21 is related with —
(A) Earth Summit (B) Montreal Protocol
(C) Kyoto Protocol (D) Johannesburg Declaration
‘Agenda-21’-iF A T1FS
(A) A AT (B) TG (BT
(C) TN @ANBIFe (D) (SRR Carget=ia
“Agenda-21" & Riq Ifad B 2
(A) Earth Summit (B) Montreal Protocol
(C) Kyoto Protocol (D) Johannesburg Declaration
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14.

15.

16.

17.

18.

19.

20.

Ear muffs or cotton plugs are used to reduce pollution of —

(A) Air (B) Nuclear (C) Noise
PICT N A Ao Ao (I 3o &SR AT T 9

(A) Iy, (B) ~ReIRT (C) *=

PTHPT AHE T DT CoTTERD T FGHUIGHTE TS+ SR TR 2
(A)Tg (B) rfoasm (C) &afy
Deforestation generally decreases —

(A) Global warming  (B) Drought (C) Soil erosion
SRR LS B T

(A) R Sz (B) <&t (C) &z
TTATETRT HTERUT: e —

(A) fag ST (B) @t (C) T &=

Which gas was emitted in Bhopal Gas Tragedy?

(A) LPG (B) MIC (C) NO;
NG S TG I o fsfo grafee 9

(A) LPG (B) MIC (C)NO;
7T TR AR HT T R FeAfeT STqepY Rt 2

(A) LPG (B) MIC (C)NO;

Taj Mahal is threatened to the effect of —

(A) Chlorine (B) Sulphur-di-oxide (C) Oxygen
O 2SS 7Y

(A) iR (B) FTHIG-BIR-S302T (C) RS
TISTETATS & T T TG B ?

(A) Chlorine (B):Sulphur-di-oxide (C) Oxygen
The ‘Earth Summit’ was held in the year —

(A) 1992 (B) 1990 (C) 1989
| T (P 2T S 27 9

(A) 1992 (B) 1990 (C) 1989
“The Earth Summit" 37 ST AT TRIeT Ry 2

(A) 1992 (B) 1990 (C) 1989
‘Black Foot’ disease is caused by —

(A) SPM (B) Cadmium (C) Arsenic
“Black Foot’ (@15i{ba &y it 251

(A) SPM (B) Frefims (C) st
“Black Foot” RFTehT R dee & —

(A) SPM (B) Cadmium (C) Arsenic
‘Silent Valley” lies in the state of —

(A) Bihar (B) Kerala (C) Tamil Nadu
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(D) Si9y

(D) a

(D) Rainfall
(D) e
(D) a5t

(D) SO,

(D) SO,

(D) SO,

(D) Hydrogen
(D) @IS
(D) Hydrogen
(D) 2001

(D) 2001

(D) 2001

(D) Fluorine
(D) Fsfm
(D) Fluorine

(D) Goa
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AIRGETD Torer (1 AT SES
(A) Rem (B) Rttt (C) Sifterg (D) ot
“Silent Valley” 3 IoTHT SRR & 72
(A) fErR (B) IRTeT (C) T (D) 7T
21.  Minamata disease is associated with —
(A) SO, (B) Mercury (C)NO, (D) Arsenic
(A) SO, (B) *fem (C)NO, (D) 9o
AT (Minamata) 0 & Ry SefRag © 2
(A) SO, (B) Mercury (C)NO, (D) Arsenic
22.  The complex network of interconnected food chains is called —
(A) Food Web (B) Food Network (C) Trophic Levels (D) Food Pyramid
AECTI ST I/ TToe WAL o7
(A) dwrenfEet (B) Wy IR (C) *fZw7 (D) 4w Fraifire
URVIR HI{PEe QT ST STieet network -aTTE 3 WS 2
(A) TTeET SfTeT (B) Food Network ~ (C) Trophic Levels (D) @ fivifie
23.  Ecosystem consist of —
(A) Producers (B) Consumers (C) Decomposers (D) All of these
AFeT 21 =7
(A) Tt (B) 4w (C) Raers (D) FRafe
IRT (Ecosystem) AT 3 & U157 ?
(A) SUEHER (B) STHIAIES. (C) 3EeHER (D) e 93
24.  Sunderlal Bahuguna’s name is associated with which of the following —
(A) Narmada Bachao Andolan (B) Chipko Movement
(C) Silent Valley (D) Green Revolution
e e A et Jead I 7@ ¢
(A) T ot wTwIE (B) oot witmtew
(C) FIZFTB Snifer SiTieTe (D) R& Re”
raReTeT AU T dererTed & Ry SfeTey & 7

(A) T qeTaT el (B) Rt amale™  (C) Silent Valley (D) sRa s1feer
25.  Which of the following causes of COVID-19?

(A) Bacteria (B) Virus (C) Protozoa (D) Fungi

emR A @fET-s5 -7 Bt 9

(A) TR (B) ©iZa (C) (bt (D) &I®

COVID-19 TeABRTEY & et 8 ?

(A) Bacteria (B) Virus (C) Protozoa (D) Fungi
26.  The major objective of family welfare programmes in India is —

(A) Disease control (B) Employment generation

(C) Population growth rate control (D) None of these
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27.

28.

29.

30.

31

SIFOICER #IfFAR T &FTER Y Try
(A) Gt et (B) FE 38
(C) TRt 3 7 fammel (D) 0L
TREFTEAT TRAR BT ST B I Ferdd D &N 2
(A) T AHAH (B) RASFIR ot
(C) SRR Jfes TR AP (D) e gt uf Bige
Which out of the following are the causes of Soil erosion?
(A) Unrestricted grazing (B) Over cultivation
(C) Deforestation (D) All of these
e @ e e i ¢
(A) ST iRe (B) ©feFly (C) IS (D) 7o
AT §RTEHT RV TADBTTED o1 &Y 2
(A) IvfafFaa R (B) STTET (C) o= fa=mer (D) frfiew &
Water is often treated with Chlorine to —
(A) Increase oxygen content (B) Kill.germs
(C) Remove hardness (D) Remove suspended particles
e Gl fUoers w9 @ v
(A) SRR s Jfew &= (B) &alY RAmieaeed ey
(C) TR FS! [RITACCIR &) (D) ARG 2B GRFAE &)
OIS PrEdert Chlorine -ﬁ@wwﬁgﬁaﬁwﬁr—
INEESISREIRIEICSIES (B) MILTE € T
(C) TRIFTT 8ETS] (D) IRREPT PiTehTEwATS TS

is the phenomenon in which earth retains heat.
(A) Air pollution (B) Green House effect
(C) Global effect (D) Land pollution

2o AR R RIS Toat T #{fRF Olofa 40 A0
(A) WA (B) &2« (C) Ry ererR (D) gimzel
gediel ATIGITS, STRET0 T TGl WiHvs —
(A) T (B) ERATE W (C) aftren (D) *F#ft o
The first International Conference on Environment was held in —
(A) Stockholm (B) Johannesburg (C) Rio-de Janeiro (D) New Delhi
Sifit! FoifFe et Rt FeTeT (1 EmeT e o =
(A) FBICR (B) @RIz (C) Re-R-wmRe (D) W R
yf2ei “International Conference on Environment” aﬁafwzﬁr@zh ?
(A) TEHEH (B) SEM@RT (C) Rar-fesmfar (D) ot et

A species confined only to a particular area is called —

(A) Epidemic (B) Endemic (C) Pandemic (D) None of these

a3 ewife, i WHE e Fm A ST @1

(A) GfPiTeR (B) TS (C) *wTefiE (D) GTR F0L W
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32

33.

34.

35.

36.

e AR TeITeHT AT UTE STSieTs s —

(A) Epidemic (B) Endemic

(C) Pandemic (D) Riie® gt ufey Brgeie

Which of the following is the successful International Agreement on ozone layer depletion?
(A) Kyoto Protocol (B) Montreal Protocol

(C) Vienna Convention (D) Copenhagen Accord

TSR ST & [ (0 Sesiiess Faeroidie e ¢
(A) B! @BTe  (B) WG (@B (C) Toraat sTae= (D) (LA RS
W@?aﬁmmwmﬁ@wﬁmﬁ?

(A) Kyoto Protocol (B) Montreal Protocol

(C) Vienna Convention (D) Copenhagen Accord

Most economic method of water conservation is —

(A) Construction of Dams (B) Interlinking of Rivers

(C) Rainwater Harvesting (D) Watershed Management

T FRAHER FES SLATST S 2

(A) Stuffiet (B) Tamges  (C) PagaARTR (D) T sAfeem
T TREUTRY FET et ST & —

(A) Fferept P (B) TEEOAR WRER e

(C) TuioTeT HRET (D) Watershed H&we

Solid waste management includes —

(A) Collection (B) Disposal (C) Recycling (D) All of these
7o 9e0 I R RIG B

(A) RRaZ (B) SR (C) 4= (D) Trafie 77l
S PBIER T AT B

(A) SHTT] (B) fFue™ (C) Grreishor (D) RAfiew ad
Amrita Devi Bishnoi sacrificed her life to the protection of —

(A) Sal trees (B) Pine trees (C) Khejri trees (D) Alpine meadows
e (7 RewsiE ot &R Beotef wafRre o e 2RI TR T O

(A)HIET RS (B) #NZH NF (C) c¥=fd e (D) SEEH NP

mwmm%ﬁgmﬁ%mmmﬁ?ﬁ%?
(A) AP HEE® (B) A HEES  (C) TN TEE® (D) FeaTg B! He

Impact of population explosion on environment includes —

(A) Global warming (B) Biodiversity destruction

(C) Deforestation (D) All of these

ST T SRR ToR erer e Rew =

(A) e Tzt (B) ERafra Rart  (C) SRenfae! (D) 7=

TG TaRUHT TG [AShIEe! THTES g —

(A) 8 STUA (B) Srafaferereny fmmer (C) sHfarTen (D) RFse oy
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37. All autotrophs are — .
(A) Producers (B) Decomposers (C) Consumers (D) All of these
J-(Sr&l 25
(A) Berims (B) Raare=s (C) W (D) 36
T e T —
(A) SHUEHES (B) 3UECHER (C) STHIATES (D) Rfiew ad
38. Who led the Green Revolution in India?
(A) Medha Patkar (B) M. S. Swaminathan
(C) Rajendra Singh (D) Ramchandra Guha
SIS AT RAER 2ttt & fBrem 9
(A) G4t 2T (B) €%, ¢, TR (C) Ater Fr (D) A5 @7
YRAEEHT Bl BN BTIcIenT ofce TR g 2
(A) HeIT UTeaR (B) . 0. THARM  (C) I 48 (D) =5 8T
39.  Thickness of Ozone layer is measured in —
(A) Decibels (B) Dobson unit (C) Meter (D) Armstrong unit
ST VRS 1R I AR WA 6 =
(A) (e (B) &7 TG0 () v (D) ©IfER o
SIS ToAepT HICTEED! THEDHATE P S 7
(A) Decibels (B) Dobson. unit (C) Meter (D) Armstrong unit

40.  The phenomenon of accumulation of non-biodegradable pesticides in human-beings —
(A) Biomagnification (B) Biodegradation (C) Bioremediation (D) Bioaccumulation

AR T JIZS (B SRS TN HLTHR T (T OO T
(A) IR (B) IEirares (C) IWRE (D) AT
HTIARTeRT SRIRAT St Sifae el HieTerpe! =11 & SiaTes Fred —

(A) Biomagnification (B) Biodegradation  (C) Bioremediation (D) Bioaccumulation

41.  The geothermal energy is released as __ from inner part of the earth.
(A) Heat (B) Light (C) Photons (D) Protons
T-01 e oo o g-weremy, /T wE
(A) = (B) == (C) c=iBw (D) caifo
gediie! T SeeaTe e S G BT I 578 7
(A) T (B) Hentar (C) Photons (D) Protons

42,  The adverse effect of modern agriculture is —
(A) Water pollution  (B) Soil degradation (C) Water logging (D) All of these

Y R JET 93 [t oo g

(A) TETHEA (B) Tr&at=a (C) TRz (D) =
3TYf7s YT T B 8T 2

(A) STeT remoT (B) T[T e (C) 91T SH1EE (D) frftes =&
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43. Gorumara National Park is famous for —
(A) Leopard (B) Deer (C) Red panda (D) Rhinoceros
cotremsin ST Twpte (3 e Rt ot 2
(A) Por (B) &ffd (C) & it (D) st
TREHRT I ST & Y AT TRTE & ?
(A) forgar (B) 7T (C) i qroeT (D) e
44, is a secondary pollutant.
(A) CO, B)Co (C) 04 (D) SO,
5 G (MegTe |
(A) CO; (B) CO (C) O3 (D) SOz
STSTEIT ST & —
(A) CO, (B) CO (C) 0s (D) S0,
45.  Forestry programme combining agriculture with forestry is called —
(A) Farm forestry (B) Rural forestry (C) Urban forestry (D) None of these
TR HCR SRGANCS G0 TN ZH
(A) TR T B) AW IRIAE  (C) VARG IR INTT (D) FAHORF

P < FIorehT AR TR aTfreht RIS wihre —

(A) Farm forestry (B) Rural forestry (C) Urban forestry (D) Reed 1 afr 8ige

46.  An example of non-biodegradable pollutant is =~

(A) Sewage (B) Plastic (C) Litter (D) Vegetable wastes

4T - ReAifers gaees Srigged ==

(A) TR & (B) 25 (C) Rfve wets (D) “fReT® *-7fE

ST AfEehIT HgNeeDT IaTEve B —

(A) TS (B)-griarem (C) TR (D) AT PIER
47.  Matter must be recycled again and again by an ecological process called —

(A) Ecological pyramid (B) Ecological succession

(C) Biogeochemical cycle (D) Energy flow

AEHRYNIS 2E( 6 RN I 2R A7 2 I LSS I

(A) ASifE PRI (B) ATSIfET &S oiffaes

(C) TeR-g- AT 5eF (D) *f& ez

TRReRITRTRIT TTPFaTaRT avferTs TR JAeishianur TeiTs s —

(A)Ecological pyramid (B) Ecological succession

(C) Biogeochemical cycle (D) Energy flow
48." Chernobyl accident was the biggest __ accident in the world.

(A) Nuclear (B) Road (C) Aviation (D) None of these

RIT o= R qdfo

(A) *fefRe (B) A1/ *il () Rmm (D) GPINO 3

A1 oreT GEFET HHRe! JETH GEET & AT & ?

(A) anfoaes (B) ¥¥® (C) Rmr (D) Rmed g afey ghge
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49.  Where among the following will you find pitcher plant?
(A) Rain-forests of North-East India (B) Sunderbans
(C) Thar Desert (D) Western Ghats
RS e i Fomeial Bien (4rs oie ?
() TeR-oF ©rRTes IRl TwieeE (B) =
(C) % TS (D) #Fowars
R dteT TAPTEY P ST UTED ?
(A) STRYIF TRTSeT guia (B) e
(C) &R T (D) af3ft S e
50. In which zone of the Biosphere Reserves there is no disturbances?
(A) Core zone (B) Transition zone  (C) Buffer zone
FRRNSTETE (I B (T TG (7R 2
(A) TBLNGTH (B) FoNER ST (C) ~fRe ST
SRR TS T Goof SFFHT ST B 2
(A) Core zone (B) Transition zone  (C) Buffer zone
Bil Infection of HIV is usually detected by —
(A) Elisa test (B) Mantoux test (C) Widal test
HIV FH& S T YRS &I #1770 2
(A) @fomit #iFrt (B) T=GH T (C) T »3rt
HIV-3 |eh0T BT U] oigrs ?
(A) Elisa test (B) Mantoux test (C) Widal test
52.  Tidal enetgy is energy obtained through —
(A) Sunlight (B) Wind (C) Oceanic tides
TR i e T % 2
(A) GRSt (B) I (C) TRFRT T
TSI It e 9T HTH §76.?
(A) ghar T (B) ST=A (C) TEANTRY TaRHTCT
53.  Which of the:following is an example of a biotic resource?
(A) Coal (B) Water (C) Fish
MR @D @3 e AT T 2
(A) =T (B) &1 (C) TR
STBTED Goof TN e FeTer & 2
(A) Prem (B) Tt (C) BT
54, Acroplandisa ecosystem.
(A) Terrestrial (B) Self-regulating  (C) Artificial
G (B *HTFS & G|
A)T™ (B) 7-fAafErs (C) T
PIHY gT TR TR B 2
(A) Terrestrial (B) Self-regulating  (C) Artificial
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(D) All of these

(D) €T3 TS
(D) Rrew @9

(D) Bilirubin test

(D) RferefR #1frw
(D) Bilirubin test

(D) Biomass

(D) torIf& (JCATI)
(D) I

(D) Minerals

(D) ¥fve

(D) TSl ueTeiEs
(D) Both (A) and (C)
(D) ‘A’ &R ‘C’ TeT]

(D) (A) I (C) T
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55.

56.

57.

58.

59.

60.

Which type of Solid waste is considered hazardous?

(A) Food Scraps (B) Plastic bottles (C) Batteries (D) Paper products
(I HRCTR o 51 Jovesee B Rabe 2 9

(A) 5B 4wy (B) st @es  (C) IBF (D) TSR 24¢7]

T YBRDI S PIER HHCHI §76 7

(A) TTEr SURTE (B) 2hermet et (C) I (D) PITDHT SHETEH
Which coastal ecosystem is known for providing important breeding grounds for marine life?
(A) Estuaries (B) Deep sea (C) Mountains (D) Deserts

@ ToITT IESH AT QIR w7gs) erwee (g B »IRfow ¢

(A) = (B) 18 @ (C) “Hewan (D) =g

TS SHgEaen] SoT1ep! ST T TSR TR ST © ?

(A) Estuaries (B) Deep sea (C) Mountains (D) Deserts

What is an example of a secondary consumer in a terrestrial ecosystem?

(A) Rabbit (B) Deer (C) Wolf (D) Grass

G “EeTe AESLH (N AT Tzl 2

(A) <At (B) =l (C) =TT (D) Q%

@A TIRETHT ST STHRRIDT SETEN0T & —

(A) TR (B) 7T (C) s (D) o1

Which of the following practices supports sustainable development?

(A) Deforestation (B) Over-fishing

(C) Recycling (D) Burning of fossil fuels

e s RfeMe Traear ~fors T e ¢

(A) SRR (B) TRRE /I (C) 7vdiRaa (D) SR G 72w
WeTeT REBTRTeTS HETIT T TTepTER] el cINepT &1 2

(A) SHfaATET (B) BT JITETEW  (C) Fdshiepeor (D) STaTSH 3 e=apT S8
Which farming practice helps in maintaining soil fertility?

(A) Monocropping . (B) Crop-rotation

(C) Slash and butn agriculture (D) Intensive tillage

I A eRerel b Tl o AT R IR 9

(A) TCAFER (B) *PTIAS

(C) 419 =% (it TR (D) @i gl

HICIPT SR STRRIET T Py Tgfrer TEIT TE ?

(A) Monocropping (B) BT Ush

(C) Slash and burn agriculture (D) Intensive tillage

Which of the following is a potential use for harvested rainwater?
(A) Flushing toilets ~ (B) Washing cars (C) Watering lawns (D) All of these
e =D 3R w1 AR AR GF IS S ¢

(A) TR BaeeT6 (B) % carst (C) TSRS TFE (D) FRFHR
JUSTRE AW TR FANT TADTHE] & B H 70 ?
(A) UTSET ST (B) TS g7 (C) afadgma RiTg (D) ew s
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55. Which type of Solid waste is considered hazardous?

(A) Food Scraps (B) Plastic bottles (C) Batteries (D) Paper products

(I AT o 80 Rereeas R Rafbo = 9

(A) TfoRE Uy (B) e @ea () I (D) FISCTE 71y

1 UPRD! ST PIER ADTHI 576 ?

(A) TTeT 37Ufers (B) gftemmept aicrer (C) Ik (D) FFTSTPT SHIEAEH
56.  Which coastal ecosystem is known for providing important breeding grounds for marine life?

(A) Estuaries (B) Deep sea (C) Mountains (D) Deserts

@I TP AGST AT SRR @G eerer ¢ B s1fifoe 9

(A) Gz (B) 1S g (C) “rema (D) T

TS STaERaen] ST wh! AT ot et TR SUgh B ?

(A) Estuaries (B) Deep sea (C) Mountains (D) Deserts
57.  What is an example of a secondary consumer in a terrestrial ecosystem?

(A) Rabbit (B) Deer (C) Wolf (D) Grass

GG FoTe AFSCH (T AT THIZR 2

(A) <=am (B) 2fRel (C) =TT (D) 9%

AT TR ST SUIRhThT SSTER0T 8T —

(A) TRTT (B) T (Cy=ma (D) =it
58.  Which of the following practices supports sustainable development?

(A) Deforestation (B) Over-fishing

(C) Recycling (D) Burning of fossil fuels

R (@I RSN S ~afor s 33 9

(A) SRR (B) WeRE N BIT  (C) %7dR2e (D) &M GeNTR we

ST FABTRIATS HETIRIT T CIqebTTE) e TTNepT &Y ?

(A) TN (B)ATET! SCRATR  (C) TishiepRur (D) SITSH S7ETahT S8
59.  Which farming practice helps in maintaining soil fertility?

(A) Monocropping . (B) Crop-rotation

(C) Slash and burn agriculture (D) Intensive tillage

I TR eRene! Witz Tt o0 ALTS ARG TR 9

(A) TR (B) *FIRS

(C) 47 @R (7ot TRFIE (D) @iy gfwde

HTETDT ST FTRRIE P PV Tgferel TSI TE 2

(A) Monocropping (B) T Uh

(C) Slash and burn agriculture (D) Intensive tillage

60.  Which of the following is a potential use for harvested rainwater?
(A) Flushing toilets  (B) Washing cars (C) Watering lawns (D) All of these
foem s 3B w1 raiter WO 3T 39T #iETe o

(A) R B0 (B) % carat (C) TS &> (D) TR
OSTRA TSI SN TABTEY P & AT §76 7
(A) T IS (B) T ¢ (C) ufF dema Rzt (D) Riew @&
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61.

62.

63.

64.

65.

66.

Which of the following is a long-term effect of nuclear pollution?

(A) Acid rain (B) Global warming

(C) Genetic mutation (D) Ozone depletion

R @S AR waeet Rdemm eor [Rem 0 9

(A) srifwe 3R (B) ¢ T

(C) T&more #fiew (D) STSTERR S

ATV TSI SYEPITeTeh STHTE TADBTHEY el &1 2

(A) s (B) e SITo

(C) TR SeuRet (D) St Rehtenvor

In ecosystem, energy production is maximum at —

(A) Decomposer level

(C) Primary consumer

AT * &7 Tesiine FIEE N =

(A) Rares v (B) a8y @ifi7 At
TR Faffeed Foff SUeT §78 —

(A) JTEEH TR (B) 3TSTET STHIRT
Blue revolution is related to

(A) Fish farming

(C) Vegetable production

et R i A TR

(A) TSHF (B) 74 Teome
At & g Fefraa 8 2

(A) ATOT qTetT (B) gy 3R
Silicosis is caused by —

(A) Bacterial infection
(C) Dust particle from mine

HfPm-gz Rt ==
(A) TR A=
(C) R (T Teotw o e
fRefrep IR T BRI —

(A) Bacterial infection
(C) Dust particle from mine
Vermicompostis —

(A)Organicmanure  (B) Bio-insecticide

SRS 2=

(A) tEHR (B) AHETLHIRS
THSel AT P &1 ?

(A) S e (B) Sifep-dhiemern
Which is not a biofuel?

(A) Biogas (B) Liquid ethanol
RIS G g 7 9

(A) AT (B) &% ZQIT

P T S T 8IS ?

(A) ST (B) TR ST

1121_1321 12

(B) Secondary consumer

(D) Producer

(C) &S 4 (D) ot
(C) eI SIHIRT (D) ST

(B) Milk production

(D) Fruit production

(C) 73 TeAme (D) T Besivw
(C) TS e (D) el ST
(B) High humidity

(D) CO; toxicity

(B) % wivret

(D) CO,-«3 Rarere

(B) High humidity

(D) CO; toxicity

(C) Biogas (D) Fossil fuel
(C) AT (D) R G
(C) Srawrs (D) SfiaTs e
(C) Liquid methanol (D) Gasoline
(C) &% Reieres (D) oA
(C) TR fErerirer (D) T

—. — ————



UG/CBCS/B.A./B.Sc./B.Com./BBA/BCA/BBA(TAH)/B.Voc./BSW/1st Sem./Environmental Studiess/ AECCENVS/2024

67. Coral reefs in India can be seen in —
(A) Himalayan region (B) Andaman and Nicobar islands
(C) Uttar Pradesh (D) Western Ghat
SRy 27 @bl (rATS et A
(A) TR orets (B) S+ @ i< et
(C) Tezamm (D) #IfR5sraies
HRIIYAT Coral reef FHET RIS ?
(A) fewrer & (B) 3r<AT A1 bR iovrge
(C) STR e (D) 3 T e
68. Lignite, bituminous and anthracite are different varieties of —
(A) Nuclear fuel (B) Coal (C) Natural gas (D) Biogas
reies, RERmPT g3k SweimiEs 2= Rfen wwm
(A) “iefE glena  (B) I (C) &= o (D) TS5
Lignite, bituminous 37 anthracite éﬁwu?ﬁmg? ?
(A) 3nfoqes g7e (B) PIget (C) sreperen 7T (D) g7
69. Rainwater harvesting extends to —
(A) Avoid flooding (B) Reduces run-off
(C) Both (A) and (B) (D) Increase river water
(A) I eIt (B) @e1aiRIR 21T
(C) ‘A’ @R ‘B’ 7612 (D) TR eed e JfEce
aYTSTeT HUSRUIERT ARG —
(A) sty (B) 3IYATE TS
©) (AIB)F (D) FEHT AT AT ST
70. Which one of the followingis a mega diverse country?
(A) India (B) Russia (C) Bangladesh (D) Canada
o @0 N-BiIe R ot 9
(A) OF® (B) Fif= (C) TRt (D) Fret
CTeTeh e G 2T gec] fafdeg qerar 2
(A) RIS (B) &9 (OENEIES (D) TS
71.  Which is not a source of fresh water?
(A) Glaciers and ice sheets (B) Ground water
(C) Surface run-off (D) Oceans
@0 R wem e o7 9
(A) eIz @ <7 (B) ¢-1&% T (C) T- 7% & (D) TR
3TCTaRTT STcTeh! T BIgT —
(A) Glaciers and ice sheets (B) Ground water
(C) Surface run-off (D) Oceans
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2l

73.

74.

75.

76.

7.

Which human activity can decrease the oxygen levels present in the atmosphere?

(A) Deforestation (B) Animal hunting  (C) Mining
VR i SR et Teifge wiEnes s 2% 6 ¢

(A) T (B) ~rafmig (C) 494
UISCEAK S ININICIECEIPU O LRGeS VR Caks | EIRSA 120

(A) g (B) agHmolt ferpR (C) &=
Pollution level in river water is measured by —

(A) ATP (B) STP (C) BOD

A ST AR @ AR s 2

(A) ATP (B) STP (C)BOD

TR AT THT HEYOThT TR 3 oY T AT+ ?

(A) ATP (B) STP (C) BOD
Which of the following is necessary for photosynthesis?

(A) Sulphur (B) Phosphorus (C) Chlorophyll
N (A AR T iR Gotwre 9

(A) ATTR (B) T9FA (C) it
P IIERIRITeh] T TABTTe) ool ST © 2

(A) Sulphur (B) Phosphorus (C) Chlorophyll

Smog is a mixture of —

(A) Smoke and fog (B) Snow and'fog (C) Snow and Dust
ettt 257 @5 f ot

(A) s e B) QR T (C) R 8 4e=
Smog T3 fsyurar —

(A) Smoke 31 fog  «B) Snow 31 fog (C) Snow 37 Dust

Which of the following is gaseous cycle?

(A) Sulphur cycle (B) Phosphorus cycle (C) Carbon cycle
[BEGIRICIeo BT ez T

(A) THIE 5F (B) TNFA 5F (C) I v&F
CTCTehITERr 1 TS TR Ash &Y 2

(A) TEFR Th (B) PR Ah (C) DT Tsh
Recycling refers to —

(A) removal of resources (B) reuse of resources
(C) reduction of water cycle (D) removal of garbage
SR TS R

(A) ™S =R (B) ™I S8R (C) TeTbierd &1
JTRIshUTeT FTSH —

(A) TEEHATE 8IS (B) WRATED! AN (C) Setdsh gersT
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(D) Irrigation

(D) &6

(D) fmg

(D) GPP

(D) GPP

(D) GPP

(D) Chloroform

(D) Gicaet

(D) Chloroform

(D) Smoke and Dust
(D) cdfa e gretee
(D) Smoke 31 Dust
(D) Nitrogen cycle
(D) VLIS b

(D) ATESIS IH

(D) SRS St

(D) HeATeTTE 8T
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78. An example of Biosphere Reserve in India is —

(A) Nandankanan (B) Sundarban

(C) Jaldapara (D) Buxa National Park

SO AR Feres i Sl 2o

(A) TR (B) W& (C) Twmiviiet (D) eoiT Twrie

WRTGYHT Biosphere Reserve B IS8R0 &1 —

(A) T (B) gr=vad (C) STeTeTST (D) ST e eI
79.  During photosynthesis which of the following gases is released ?

(A) Methane (B) Nitrogen (C) Oxygen (D) Carbon dioxide

FICENFFRCATIIC Wewa (it s fefs =77 9

(A) firas (B) WiZeaIcE= (C) wif3rer (D) FE-TIR2-T3HZT

TTLRAICITHT PooT T e+~ 76 ?

(A) o (B) TggIo (C) Friror (D) DI STEHIITES
80.  All species on earth together with their environments collectively comprise —

(A) Lithosphere (B) Hydrosphere (C) Atmosphere (D) Biosphere

TAITOS ANALES ©IF 7S AT GF0q 76 7

(A) Terifes (B) QEifre (C) G rR (D) T

YT T G SoTTIe S forTeT yafarures Mo s afts 2

(A) Lithosphere (B) Hydrosphere (C) Atmosphere (D) Biosphere

X
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